5 CB003-09 Locking nut 1
4 Cz031-07 Screw M4x30 2
3 BR0O05-001 Ceramic cartridge ¢35 1
2 CZ031-05 Mixer body 1
1 Cz031-16 O.ring 55x2 1
ID Code Description Pcs
Number
2 GY031DEXT-00 | External parts for GY031D 1
HBGY031-00 Internal parts for GY005-GY031 1
ID Code Description Pcs
Number
4 CZ031-001 Cartridge set for shower mixer 1
3 CZ031-002 Connector set 3
2 CZ031-10 Cover 1
12 HBAC009-07 Screw M4x45 2
1 GY031-002 Handle kit D 1
11 CzZ031-18 Label 1
10 CZ031-04 Protection cover 1 ID Code Description Pcs
9 Cz031-03 Extension 2 Number
8 CZ031-004 Plug set 3
7 Cz031-13 Grub screw M4x12 2 Sheet lof 3
6 Cz031-15 Concealed mixer/diverter body 1
; Scale 1:2,5
5 HBCB105-20 Blu plug 1 N REVIEW Date
4 HBCB105-21 Red plug 1 Description Material
3 HB131-03 Yellow plug 1 Concealed shower mixer
2 Cz031-12 Frame 1 Weight
1 Cz031-14 Screw M6x10 2 0kg
I D Cod e Descri ption PCS Code Date of issue Chamfers not quoted Finishi
Numb GY031D-00 1102024 | 0.5x45° S @ | potsnd | o h Dt bﬂt h
umber This drawing is property reserved of Hotbath Srl. Mhn DGt hirGorrTWare
Without express authorization, the copying, distribution and utilization of this document as well as the communication to others is prohibited




